VvV SI-2lS

“IN-Ue|d

ssoyosabjayoosg

yoredypmmm

v6-L1

palao

v

VS vSvve s v+

Bunuynjsny

INYLILBIUIA 0078 —HD

G 2ssenisia|en g
OV UspRIY2IY

1¢02'€0'9¢ A9y . .
02026091 ~“ed ANYLBIUIM G0¥8 '9¢ IHOPIQH Wi 'OV qWo
od ‘289

0c'L

SN

yoeznag z/y8 ‘v asseqysinisiag ‘ebeiebyal] jw ajjey|jeisuig neqnan

Jaulled WiaH uspuiyeq

93 uspog BIUB) YO = “IN'N"'W GO'0FY = 000 F

2
& & 7
v 7
%3
7 et =P} X
24 z r Nz
o 7z S T~ //
7 £ b Tt £ N )
s g § K
2 % e T+ — S AN
0 4 g A 5 = AN
L s ] I - g
s 2 o) +—— 2 » N
, Ei ‘ o §—— B H N
7 < g i S g 9 <= N\
Y P £ o) E 5 <€ N
k< S 3 o
s 3 H Q
s E N2 F E &
@ E| 1
© & H \w\o ] = sl 5
Y K T i £-% s
£ : oo ¥
Y 1% z - ETHN 8l 2 Lx o @
a/z\ W o & =4a
A I
56 &
3
AR o
& Q 509°0- '8
. =
052 oz 05 oz
¥ 7 { ©
W - —— L N = e
z
s
o
2 8 s < N
522+ 9090 1IN g i d 5Lz+ oo
\\\\\ Zesquuoyeq o ggesoweqnn_ [ L b oW Lb L sueoweq
| Tl , K
| % S~ ,
© ~
o ~o . g
~ o) )
~_ 2
~
~
— . - Lt
| om 057 < 00¢
| |
g | |
] |
t b € | 2
u Ed
— B+ f - - = — g —— = ] Tt
f : B
575 e
28 8
=& 8
<o <
b ?
alg g
, 8l
[ —— —
//
£ ~
g
@ 2 S~
5 2 g s,
2 s 05 5
2 ~ m e
g 2
i :
4
E wu 0g/00z [duapog abejuiy “ < A
M W2 G 8YoH 050 ¥HY A
OV JueAesseq |
00y auupBejequEH-eydsy
800-= 94
| F |
8 8
~ e e
o 2% N o .
= = <l = 3
\\\\\\\ = £ . E c=E V g s £
_-1 = Egy §°§ = E §5s
- | 0 5 3c2 J 9w Sc3
- Beo|REss T i 885
- | c < 283 222 23 583
— » € — o
| szl ls2a EEEM i & PR
| SCEE
” €288
o §385E
W T H i T
w0 ole J M sigie |
S8Ece
] £3g2s | |
~~ 3 3 §5225 | |
~ { " =8935
o~ ] B 29825 | |
S~ A~ K0S ES
j— N |
——me B N
Jwesuny ——H | E ' S |
/ 8sudly o i S
Ayasyof] 0€ 052 00'e
3 006
pel 006 Tt ———H———— -
bl [<]
e 58
8 o
o 268 m\u\ﬁ
| HY 8
IR =08 €87 T
8z 4
BN
s
€ S0°0¥F / 00°0% = "8'4 3 @
o 3
S00bY/ 00°0F =87} [ 50
T — — - = : — — - — —
T i
_ R N
| i | N N [
| ; | | =
R S g I~ . S ) S — )3 N S [ — L . S
i T | <) 4%! |
e ~
| L I -
T Bk Eme.%_tm il 3 w ! 65" ksse
T oy s
609 T T

609

Qws=om

oS
3
4 5
2 &=
] i
g g2
> EE
% 2 % b 0 S o ]
8 W T g 3t
b ¥ 23 ¥ + R @t
ST 09 AN 07y
BSBUIISSB\\
r KINES T
|
Y o
7 T o 4 95€ 4 e
£
5
L 5
g " B 5
\\\\\\\\\\ F—- 2+ g ¥ >
] d
£8 0§
St « =
r 0 [HEIE
. - o8 S S 5
VP o YR 3
¥ ¥ 8s g2,
25 i 3% 5
S £5 El
~ woh
88 225
E s
3 7 25
1 )
V4 03
W {:1% =
>
2
5 J
e 3 r
5 [
o N o 6l 7
N g /
g ] g /
- ,
6LX¢€L
sve 4 e E4
o
g
(1eqsoiyos Bunsaje ) ST 87 TET T
ww qv/ov 1yo.d abeuiz wo g sdx .
&
2 o £
&) %! o, 2 wog}, Jodynjy Bunwwepswiep, 9 3
~| [ ~| ol =)
+ + <! N v
+ Q
S
b=
F
vt 9T ocHESEE]ST oLbt 10z 55T HEEE
) PR N
< : 45 o
T? +
by
=
= )
EEE Sv
EEE
\\\\\ y——————————————Smg —— -
& Rt
EEEEEE 2 3
EEEEEE ? g
Soowoo
88R*&8 o
= 3 S
0 3
2 2
© £
=] =)
o2y o=
g 30 o 55 g
9 a2 g <% 9
=2 2] g oL o
3 ] 3 =5
32, 288 2 g 32
J28eS8E £ Y Eg
258588 2o  &_2f
YrrEPes oT 38839
S8~ FLETD ° = Sgo e
Sz=EEES o3 GSEE
dEEFSSS S 2 LR
BeSF828 2 =N
QdnorFodm o o aTIms
(o
wuw 0g/00Z ‘duspog ebejuig ww
wo G 8UQH 050 HHY S
oV juenessed =i
00y auuLBE[eqUEH-)|BYdSY v 0o\
% = 4 007 B E4 = LD
=
&
© i~
o e 3 -
o
8
4 o
B 3
o =
¢ :
L
k g
scEf et o S9E
@ d
0T 509 4 6 € 3= KR
5 3
o -
B ¥ LT - "
8E S )
=¥ o,
33 #
58 3 I
S o
K
8
L =l -
7 5T (4 LY B =
EN ¢ c
A e ¥ & e
? ¥ p ]
5 O
B4 4 L
&
3 b=
<



	512-15 Sockelgeschoss

